Fedral Investigation Agency Cyber Crime Wing Financial Results

Fender # Rudget ID FIA/CCW/2021-22/20220201-RCCW ID9976

| Budget 1 | D   | ID9976                               |     |                          |            |                          |            |                          |           |                          |            |                          |           |  |
|----------|---|--------------------------------------|-----|--------------------------|------------|--------------------------|------------|--------------------------|-----------|--------------------------|------------|--------------------------|-----------|--|
|          |   |                                      |     | Atiqu                    | e traders  | GHAZI                    | Stationers | RIZ T                    | echnology | Jamal                    | & Brothers | Sohai                    | l Traders |  |
| Sr. No.  | Name of Items   | Units                                | Qty | Unit price including GST | TOTAL      | Unit price including GST | TOTAL      | Unit price including GST | TOTAL     | Unit price including GST | TOTAL      | Unit price including GST | TOTAL     | Remarks / Result / Decision  |
| 1        | Duster Cloth, good quality                            | Pieces                               | 700 | 48.00                    | 33,600.00  | 305.62                   | 213,934.00 | -                        | -         | -                        | -          | 21.00                    | 14,700.00 | Technical Score of all the bidders is same i.e. 80. M/s Sohali Traders has quotted lowest price for Duster Clot good quality and declared as most advantegeous by the purchase committee under PPRA rules 2004.                                      |
| 2        | Air freshner (Mix fragrance)                          | Pieces                               | 100 | 442.00                   | 44,200.00  | 184.01                   | 18,401.00  | -                        | -         | -                        | -          | 162.63                   | 16,263.00 | Technical Score of all the bidders is same i.e. 80. M/s Sohail Traders has quotted lowest price for Air freshner (Mix fragrance) and declared as most advantegeous by the purchase committee under PPRA rules 2004.                                  |
| 3        | Handwash-Safeguad<br>or equivalent                    | NOs                                  | 100 |                          | -          | 233.36                   | 23,336.00  |                          | -         |                          | -          | 155.65                   | 15,565.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Handwast<br>Safeguad or equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.                   |
| 4        | Attendence Register<br>300 pages, Good<br>quality     | NOs                                  | 35  | 520.00                   | 18,200.00  | 570.96                   | 19,983.60  | -                        | -         | -                        | -          | -                        | -         | Technical Score of all the bidders is same i.e. 80. M/s<br>Atique traders has quotted lowest price for Attendence<br>Register 300 pages, Good quality and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.       |
| 5        | Uniball Red Eye (Fine)                                | Packets (10<br>pieces per<br>packet) | 5   | 1,776.00                 | 8,880.00   | 1,517.98                 | 7,589.90   | -                        | -         | -                        | -          | 1,368.90                 | 6,844.50  | Technical Score of all the bidders is same i.e. 80. M/s Sohail Traders has quotted lowest price for Uniball Red Eye (Fine) and declared as most advantegeous by the purchase committee under PPRA rules 2004.  |
| 6        | Uniball Black Eye<br>(Fine)                           | Packets (10<br>pieces per<br>packet) | 10  | 1,776.00                 | 17,760.00  | 1,517.98                 | 15,179.80  | -                        | -         | -                        | -          | 1,368.90                 | 13,689.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Uniball Black<br>Eye (Fine) and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.                             |
| 7        | Uniball Blue Eye<br>(Fine)                            | Packets (10<br>pieces per<br>packet) | 25  | 1,776.00                 | 44,400.00  | 1,517.98                 | 37,949.50  | -                        | -         | -                        | -          | 1,368.90                 | 34,222.50 | Technical Score of all the bidders is same i.e. 80. M/S<br>Sohail Traders has quotted lowest price for Uniball Blue<br>Eye (Fine) and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.                              |
| 8        | Ball Point Black<br>(Dollar clipper or<br>equivalent) | Packets (10<br>pieces per<br>packet) | 200 | 113.00                   | 22,600.00  | 102.07                   | 20,414.00  | -                        | -         | -                        | -          | 117.00                   | 23,400.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Ball Point<br>Black (Dollar clipper or equivalent) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004. |
| 9        | Ball Point Blue<br>(Dollar clipper or<br>equivalent)  | Packets (10<br>pieces per<br>packet) | 400 | 113.00                   | 45,200.00  | 102.07                   | 40,828.00  | -                        | -         | -                        | -          | 117.00                   | 46,800.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Ball Poinl<br>Blue (Dollar clipper or equivalent) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.  |
| 10       | Ball Point Red (Dollar<br>or equivalent)              | Packets (10<br>pieces per<br>packet) | 50  | 113.00                   | 5,650.00   | 102.07                   | 5,103.50   | -                        | -         | -                        | ı          | 117.00                   | 5,850.00  | Technical Score of all the bidders is same i.e. 80, M/s GHAZI Stationers has quotted lowest price for Ball Point Red (Dollar or equivalent) and declared as most advantegeous by the purchase committee under PPRA rules 2004.                       |
| 11       | Binder clip (25 mm)                                   | Packets (12<br>pieces per<br>packet) | 100 | 85.00                    | 8,500.00   | 87.71                    | 8,771.00   | -                        | -         | -                        | 1          | 128.70                   | 12,870.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Atique traders has quotted lowest price for Binder clip (22<br>mm) and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.                                  |
| 12       | Binder clip (32 mm)                                   | Packets (12<br>pieces per<br>packet) | 100 | 111.00                   | 11,100.00  | 103.24                   | 10,324.00  | -                        | -         | -                        | -          | 139.23                   | 13,923.00 | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Binder clip (32 mm) and declared as most advantegeous by the purchase committee under PPRA rules 2004.   |
| 13       | Binder clip (41 mm)                                   | Packets (12<br>pieces per<br>packet) | 100 | 166.00                   | 16,600.00  | 154.07                   | 15,407.00  | -                        | -         | -                        | -          | 230.49                   | 23,049.00 | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Binder clig (41 mm) and declared as most advantegeous by the purchase committee under PPRA rules 2004.   |
| 14       | scotch tape 1.5",<br>Good Quality                     | Pieces                               | 500 | -                        | -          | 95.27                    | 47,635.00  | -                        | -         | -                        | -          | 67.86                    | 33,930.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for scotch tape<br>1.5", Good Quality and declared as most advantegeous by<br>the purchase committee under PPRA rules 2004.                       |
| 15       | scotch tape 3.0",<br>Good Quality                     | Pieces                               | 500 | 252.00                   | 126,000.00 | 160.29                   | 80,145.00  | -                        | -         | -                        | -          | 135.72                   | 67,860.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for scotch tape<br>3.0", Good Quality and declared as most advantegeous by<br>the purchase committee under PPRA rules 2004.                       |

|         |   |                                      |        | Atiqu                | e traders | GHAZI                | Stationers | RIZ T                | echnology | Jamal                | & Brothers | Sohail               | Traders    |   |
|---------|---|--------------------------------------|--------|----------------------|-----------|----------------------|------------|----------------------|-----------|----------------------|------------|----------------------|------------|---|
| Sr. No. | Name of Items   | Units                                | Qty    | Unit price including | TOTAL     | Unit price including | TOTAL      | Unit price including | TOTAL     | Unit price including | TOTAL      | Unit price including | TOTAL      | Remarks / Result / Decision   |
| 16      | Board Marker Blue,<br>Dollar or Equivalent  | Packets (10<br>pieces per<br>packet) | 50     | <b>GST</b><br>492.00 | 24,600.00 | <b>GST</b><br>446.04 | 22,302.00  | GST<br>-             | -         | GST<br>-             | -          | <b>GST</b><br>43.29  | 2,164.50   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Board Marker<br>Blue, Dollar or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.              |
| 17      | Board Marker Black,<br>Dollar or Equivalent                                       | Packets (10<br>pieces per<br>packet) | 50     | 492.00               | 24,600.00 | 446.04               | 22,302.00  | -                    | -         | -                    | -          | 43.29                | 2,164.50   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Board Marker<br>Black, Dollar or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.             |
| 18      | Box Files 3"A4<br>imported  | Files                                | 150    | 1                    | -         | 308.88               | 46,332.00  | -                    | -         | -                    | -          | 320.40               | 48,060.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Box Filias 3"A4 imported and declared as most advantegeous by the purchase committee under PPRA rules 2004.                                       |
| 19      | Canon NPG-51 Toner<br>Black, Cannon Image<br>Runner<br>2520/2525/2530<br>Original | NOs                                  | 100    | -                    | -         | -                    | -          | -                    | -         | -                    | -          | -                    | -          | No Quotation Received   |
| 20      | carbon paper A4<br>Good Quality   | Packets                              | 30     | -                    | -         | 245.03               | 7,350.90   | -                    | -         | -                    | -          | 397.80               | 11,934.00  | advantegeous by the purchase committee under PPRA rules 2004.   |
| 21      | Dak Folder ,<br>Different Colors,<br>Alfalah or Equivalent                        | Pieces                               | 20     | ,                    | -         | 683.28               | 13,665.60  | -                    | -         | -                    | -          | 739.44               | 14,788.80  | Technical Score of all the bidders is same i.e. 80. My. GHAZI Stationers has quotted lowest price for Dak Folder , Different Colors, Alfalah or Equivalent and declared as most advantegeous by the purchase committee under PPRA rules 2004.           |
| 22      | Diary Register 500<br>pages (70 gsm page)   | NOs                                  | 100    | 1                    | -         | 706.68               | 70,668.00  | -                    | -         | -                    | -          | 647.00               | 64,700.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Diary Register<br>500 pages (70 gsm page) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.               |
| 23      | Disptach Register<br>500 pages, (70 gsm<br>page)                                  | NOs                                  | 100    | 1                    | 1         | 706.68               | 70,668.00  | -                    | -         | -                    | -          | 647.00               | 64,700.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Disptach<br>Register 500 pages, (70 gsm page) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.           |
| 24      | Black Pointer Dollar<br>or Equivalent   | Packets (10<br>pieces per<br>packet) | 15     | 195.00               | 2,925.00  | 172.27               | 2,584.05   | -                    | -         | -                    | -          | 184.86               | 2,772.90   | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Black<br>Pointer Dollar or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.                 |
| 25      | Blue Pointer Dollar<br>or Equivalent  | Packets (10<br>pieces per<br>packet) | 35     | 195.00               | 6,825.00  | 172.27               | 6,029.45   | -                    | -         | -                    | -          | 184.86               | 6,470.10   | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotited lowest price for Blue Pointer Dollar or Equivalent and declared as most advantegeous by the purchase committee under PPRA rules 2004.                             |
| 26      | Drafting Pad- A4, 50<br>pages (Alfalah or<br>Equivalent)                          | NOs                                  | 500    | -                    | -         | 49.42                | 24,710.00  | -                    | -         | -                    | -          | 136.89               | 68,445.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Drafting<br>Pad- A4, 50 pages (Alfalah or Equivalent) and declared as<br>most advantegeous by the purchase committee under<br>PPRA rules 2004. |
| 27      | Dustbin (Large) good<br>quality   | Pieces                               | 50     | 1                    | 1         | 1,689.48             | 84,474.00  | -                    | -         | -                    | -          | 196.56               | 9,828.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Dustbin  |
| 28      | Dustbin (Small) Good<br>quality   | Pieces                               | 80     | -                    | -         | 324.09               | 25,927.20  | -                    | -         | -                    | -          | 167.31               | 13,384.80  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Dustbin<br>(Small) Good quality and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                            |
| 29      | Energizer or equivalent AA  | Packets(4<br>pieces per<br>packet)   | 25     | -                    | -         | 392.75               | 9,818.75   | -                    | -         | -                    | -          | 209.43               | 5,235.75   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Energizer or<br>equivalent. AA and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.                             |
| 30      | Energizer or equivalent AAA   | Packets(4<br>pieces per<br>packet)   | 25     | -                    | -         | 392.75               | 9,818.75   | -                    | -         | -                    | -          | 209.43               | 5,235.75   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Energizer or<br>equivalent AAA and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.                             |
| 31      | Envelop A4 printed<br>(with CCW FIA logo)   | pieces                               | 25,000 | -                    | -         | 2.46                 | 61,500.00  | -                    | -         | -                    | -          | 4.56                 | 114,000.00 | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Envelop A4 printed (with CCW FIA logo) and declared as most advantegeous by the purchase committee under PPRA rules 2004.                         |

|         |   |         |        | Atiqu                    | e traders  | GHAZI                          | Stationers | RIZ Te                   | echnology  | Jamal                    | & Brothers | Sohai                    | l Traders |  |
|---------|---|---------|--------|--------------------------|------------|--------------------------------|------------|--------------------------|------------|--------------------------|------------|--------------------------|-----------|--|
| Sr. No. | Name of Items   | Units   | Qty    | Unit price including GST | TOTAL      | Unit price<br>including<br>GST | TOTAL      | Unit price including GST | TOTAL      | Unit price including GST | TOTAL      | Unit price including GST | TOTAL     | Remarks / Result / Decision  |
| 32      | Envelop Small<br>printed (with CCW<br>FIA logo)                               | pieces  | 20,000 | -                        | -          | 1.15                           | 23,000.00  | -                        | -          | -                        | -          | 1.34                     | 26,800.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Envelop<br>Small printed (with CCW FIA logo) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.       |
| 33      | Envolope Legal-<br>printed (with CCW<br>FIA logo)                             | pieces  | 10,000 | 1                        | -          | 3.38                           | 33,800.00  | 1                        | -          | 1                        | -          | 5.19                     | 51,900.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Envolope<br>Legal- printed (with CCW FIA logo) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.     |
| 34      | Eraser AL30, (Pelikan<br>or Equivalent)                                       | pieces  | 100    | 42.00                    | 4,200.00   | 41.23                          | 4,123.00   | -                        | -          | ı                        | -          | 15.21                    | 1,521.00  | Technical Score of all the bidders is same i.e. 80. Mys.<br>Sohall Traders has quotted lowest price for Eraser Al.30,<br>(Pelikan or Equivalent) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.            |
| 35      | Evidence Bag<br>(Differnet Size)  | pieces  | 5,000  | -                        | -          | 49.13                          | 245,650.00 | -                        | -          | -                        | -          | -                        | -         | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Evidence Bag (Differnet Size) and declared as most advantegeous by the purchase committee under PPRA rules 2004.                               |
| 36      | Evidence Seal Tape<br>(Word "Evidence"<br>should be written),<br>Good Quality | pieces  | 200    | -                        | -          | -                              | -          | -                        | -          | -                        | -          | -                        | -         | No Quotation Received  |
| 37      | File Tag Cotton 6<br>inch, Good Quality<br>Packets                            | Packets | 100    | 85.00                    | 8,500.00   | 37.72                          | 3,772.00   | -                        | -          | -                        | -          | 42.12                    | 4,212.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for File Tag<br>Cotton 6 inch, Good Quality Packets and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.    |
| 38      | Flag for File<br>Transparent post it<br>or Equivalent                         | Packets | 200    | -                        | -          | 50.53                          | 10,106.00  | -                        | -          | -                        | -          | 63.18                    | 12,636.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Flag for File<br>Transparent post it or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004. |
| 39      | Correction pen,<br>pelkin or equivalent                                       | Pieces  | 500    | 170.00                   | 85,000.00  | 87.08                          | 43,540.00  | -                        | -          | -                        | -          | 37.44                    | 18,720.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Correction pen,<br>pelkin or equivalent and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                 |
| 40      | Token Register 120<br>Pages, Good Quality                                     | NOs     | 10     | -                        | -          | -                              | -          | -                        | -          | -                        | -          | 427.00                   | 4,270.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Token<br>Register 120 Pages, Good Quality and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.            |
| 41      | Cash Book register  | Nos     | 10     | 1                        | 1          | 379.08                         | 3,790.80   | 1                        | -          | 1                        | 1          | 573.00                   | 5,730.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Cash Book<br>register and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.                                 |
| 42      | Gum Sticks-Amos or<br>Equivalent, 22 gm                                       | NOs     | 500    | 233.00                   | 116,500.00 | 132.54                         | 66,270.00  | 1                        | -          | ı                        | 1          | 92.43                    | 46,215.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Gum Sticks<br>Amos or Equivalent, 22 gm and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.              |
| 43      | Highlighters -Pilikan<br>or Equivalent  | Pieces  | 500    | 118.00                   | 59,000.00  | 110.54                         | 55,270.00  | 1                        | -          | 1                        | -          | 39.78                    | 19,890.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Highlighters<br>Pilikan or Equivalent and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                   |
| 44      | HP 26A Black<br>Original LaserJet<br>Toner Cartridge                          | Pieces  | 20     | -                        | -          | -                              | -          | 22,414.86                | 448,297.20 | 23,751.00                | 475,020.00 | -                        | -         | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technology has quotted lowest price for HP 26A Black<br>Original LaserJet Toner Cartridge and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.    |
|         | HP LaserJet Toner,<br>51 A Original   | Pieces  | 10     | -                        | -          | -                              | -          | -                        | -          | 30,186.00                | 301,860.00 | -                        | -         | Technical Score of all the bidders is same i.e. 80. M/s<br>Jamal & Brothers has quotted lowest price for HP Laserlet<br>Toner, 51 A Original and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                   |
| 46      | HP 32A Black original<br>laserjet Drum  | Pieces  | 30     | -                        | -          | -                              | -          | 18,782.60                | 563,478.00 | 17,433.00                | 522,990.00 | -                        | -         | Technical Score of all the bidders is same i.e. 80. M/s<br>Jamal & Brothers has quotted lowest price for HP 32A<br>Black original laserjet Drum and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.             |
| 47      | HP LaserJet Toner,<br>35A, Original   | Pieces  | 50     | -                        | -          | -                              | -          | 15,973.72                | 798,686.00 | 14,391.00                | 719,550.00 | 1                        | -         | Technical Score of all the bidders is same i.e. 80. M/s<br>Jamal & Brothers has quotted lowest price for HP Laserlet<br>Toner, 35A, Original and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                   |

|         |  |                                       |       | Atiqu                    | e traders    | GHAZI Stationers     |            | RIZ T                | echnology | Jamal                    | & Brothers   | Sohai                    | l Traders  |   |
|---------|--|---------------------------------------|-------|--------------------------|--------------|----------------------|------------|----------------------|-----------|--------------------------|--------------|--------------------------|------------|---|
| Sr. No. | Name of Items  | Units                                 | Qty   | Unit price including GST | TOTAL        | Unit price including | TOTAL      | Unit price including | TOTAL     | Unit price including GST | TOTAL        | Unit price including GST | TOTAL      | Remarks / Result / Decision   |
| 48      | Separator Set/Plastic  | Sets                                  | 100   | 55.00                    | 5,500.00     | <b>GST</b><br>87.54  | 8,754.00   | GST<br>-             | -         | -                        | -            | 117.00                   | 11,700.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Atique traders has quotted lowest price for Separator<br>Set/Plastic and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.                             |
| 49      | Lead Pencil Dollar or<br>Equivalent                                | Packets(10<br>pieces per<br>packet)   | 20    | 138.00                   | 2,760.00     | 161.46               | 3,229.20   | -                    | -         | -                        | -            | 157.95                   | 3,159.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>Atique traders has quotted lowest price for Lead Pencil<br>Dollar or Equivalent and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                  |
| 50      | Note Pad (5.5 x 8.5<br>Inches), Good Quality                       | Pieces                                | 1,000 | 1                        | -            | 139.76               | 139,760.00 | -                    | -         | -                        | -            | 161.46                   | 161,460.00 | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Note Pad $(5.5 \times 8.5 \cdot 1nches)$ , Good Quality and declared as most advantegeous by the purchase committee under PPRA rules 2004.  |
| 51      | Paper Clip (Grash or<br>Equivalent)                                | Packets (100<br>Pieces per<br>packet) | 100   | 76.00                    | 7,600.00     | 49.14                | 4,914.00   | -                    | -         | -                        | -            | 31.59                    | 3,159.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Paper Clip<br>(Grash or Equivalent) and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                  |
| 52      | Paper Cutter- good<br>quality Medium size                          | NOs                                   | 200   | 180.00                   | 36,000.00    | 54.99                | 10,998.00  | -                    | -         | -                        | -            | 140.40                   | 28,080.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Paper Cutter- good quality Medium size and declared as most advantegeous by the purchase committee under PPRA rules 2004.                   |
| 53      | Paper A-4, 70 gsm<br>AA or Equivalent                              | Reams                                 | 7,000 | 910.00                   | 6,370,000.00 | -                    | -          | -                    | -         | 799.00                   | 5,593,000.00 | -                        | -          | Technical Score of all the bidders is same i.e. 80. M/s<br>Jamal & Brothers has quotted lowest price for Paper A-4,<br>70 gsm AA or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.           |
| 54      | Paper F4/Legal 70<br>gsm A4 or Equivalent                          | Reams                                 | 3,000 | 1,020.00                 | 3,060,000.00 | -                    | -          | -                    | -         | 914.00                   | 2,742,000.00 | -                        | -          | Technical Score of all the bidders is same i.e. 80. M/s<br>Jamal & Brothers has quotted lowest price for Paper<br>F4/Legal 70 gsm A4 or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.       |
| 55      | Permanent marker<br>Blue Dollar, piano or<br>Equivalent            | Packets                               | 50    | 456.00                   | 22,800.00    | 420.59               | 21,029.50  | -                    | -         | -                        | -            | 456.00                   | 22,800.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Permanent marker Blue Dollar, piano or Equivalent and declared as most advantegeous by the purchase committee under PPRA rules 2004.        |
| 56      | Permanent marker<br>Black Dollar, piano or<br>Equivalent           | Packets                               | 50    | 456.00                   | 22,800.00    | 420.59               | 21,029.50  | -                    | -         | -                        | -            | 456.00                   | 22,800.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Permanent marker Black Dollar, piano or Equivalent and declared as most advantegeous by the purchase committee under PPRA rules 2004.       |
| 57      | Plain Register 100<br>pages Good Quality                           | Pieces                                | 200   | ,                        | -            | 699.66               | 139,932.00 | -                    | -         | -                        | -            | 198.60                   | 39,720.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Plain Register<br>100 pages Good Quality and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.          |
| 58      | Sticky note 3 x 3 post it or equivalent                            | NOs                                   | 500   | 64.00                    | 32,000.00    | 59.83                | 29,915.00  | -                    | -         | -                        | -            | 79.56                    | 39,780.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Sticky note $3\times3$ post it or equivalent and declared as most advantegeous by the purchase committee under PPRA rules 2004.             |
| 59      | Punch Machine Single<br>Hole heavy duty,<br>Owner or Equivalent    | Pieces                                | 100   | -                        | -            | 898.56               | 89,856.00  | -                    | -         | -                        | -            | 263.25                   | 26,325.00  | Technical Score of all the bidders is same i.e. 80. M/s Sohall Traders has quotted lowest price for Punch Machine Single Hole heavy duty, Owner or Equivalent and declared as most advantegeous by the purchase committee under PPRA rules 2004.  |
| 60      | Punch Machine<br>Double Hole heavy<br>duty, Owner or<br>Equivalent | Pieces                                | 100   | 5,460.00                 | 546,000.00   | 2,824.38             | 282,438.00 | -                    | -         | -                        | -            | 1,574.00                 | 157,400.00 | Technical Score of all the bidders is same i.e. 80. M/s Sohall Traders has quotted lowest price for Punch Machine Double Hole heavy duty, Owner or Equivalent and declared as most advantegeous by the purchase committee under PPRA rules 2004.  |
| 61      | Punch Machine<br>Double Hole, Owner<br>or Equivalent               | Pieces                                | 200   | 490.00                   | 98,000.00    | 677.43               | 135,486.00 | -                    | -         | -                        | -            | 438.75                   | 87,750.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Punch Machine<br>Double Hole, Owner or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004. |
| 62      | Punch Machine Single<br>Hole, Owner or<br>Equivalent               | Pieces                                | 300   | 227.00                   | 68,100.00    | 262.08               | 78,624.00  | -                    | -         | -                        | -            | 98.28                    | 29,484.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Punch Machine<br>Single Hole, Owner or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004. |
| 63      | Rose petal Tissue<br>Bathroom Roll                                 | 10 pieces per<br>packet               | 50    | -                        | -            | 442.54               | 22,127.00  | -                    | -         | -                        | -            | 725.40                   | 36,270.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Rose petal<br>Tissue Bathroom Roll and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004.                 |

|         |   |                                      |        | Atiqu                    | e traders  | GHAZI Stationers     |            | RIZ T                | echnology | Jamal                    | & Brothers | Sohai                    | l Traders  |  |
|---------|---|--------------------------------------|--------|--------------------------|------------|----------------------|------------|----------------------|-----------|--------------------------|------------|--------------------------|------------|--|
| Sr. No. | Name of Items   | Units                                | Qty    | Unit price including GST | TOTAL      | Unit price including | TOTAL      | Unit price including | TOTAL     | Unit price including GST | TOTAL      | Unit price including GST | TOTAL      | Remarks / Result / Decision  |
| 64      | Rose petal or<br>equivalent Tissue<br>Box- white color    | Pieces                               | 500    | -                        | -          | 126.57               | 63,285.00  | GST<br>-             | -         | -                        | -          | 163.80                   | 81,900.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Rose petal or equivalent Tissue Box. white color and declared as most advantegeous by the purchase committee under PPRA rules 2004.                |
| 65      | Scale - Steel, Good quality                               | Pieces                               | 200    | 58.00                    | 11,600.00  | 56.49                | 11,298.00  | -                    | -         | -                        | -          | 71.37                    | 14,274.00  | Technical Score of all the bidders is same i.e. 80. M/S<br>GHAZI Stationers has quotted lowest price for Scale -<br>Steel, Good quality and declared as most advantegeous by<br>the purchase committee under PPRA rules 2004.                            |
| 66      | Scissors Medium size<br>good quality                      | Pieces                               | 100    | 50.00                    | 5,000.00   | 221.06               | 22,106.00  | -                    | -         | -                        | -          | 157.95                   | 15,795.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Atique traders has quotted lowest price for Scissors<br>Medium size good quality and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.                     |
| 67      | Stamp pad Black<br>(Dollar or Equivalent)                 | Pieces                               | 50     | 84.00                    | 4,200.00   | 98.56                | 4,928.00   | -                    | -         | -                        | -          | 65.52                    | 3,276.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Stamp pad<br>Black (Dollar or Equivalent) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.                |
| 68      | Stamp pad Blue<br>(Dollar or Equivalent)                  | Pieces                               | 150    | 84.00                    | 12,600.00  | 98.56                | 14,784.00  | 1                    | -         | -                        | -          | 65.52                    | 9,828.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Stamp pad<br>Blue (Dollar or Equivalent) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.                 |
| 69      | Stapler Medium (Deli<br>or Equivalent)                    | Pieces                               | 500    | 370.00                   | 185,000.00 | 255.32               | 127,660.00 | 1                    | -         | -                        | -          | 318.24                   | 159,120.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Stapler<br>Medium (Deli or Equivalent) and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.                 |
| 70      | Stapler Pin 24/6,<br>Dollar or Equivalent                 | Boxes (20<br>pieces per<br>box)      | 200    | 960.00                   | 192,000.00 | 929.31               | 185,862.00 | -                    | -         | -                        | -          | 1,041.00                 | 208,200.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Stapler Pin<br>24/6, Dollar or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.              |
| 71      | Stapler pin heavy<br>duty 23/10, Dollar or<br>Equivalent  | Packets (10<br>pieces per<br>packet) | 5      | 160.00                   | 800.00     | 1,078.74             | 5,393.70   | -                    | -         | -                        | -          | 154.44                   | 772.20     | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Stapler pin<br>heavy duty 23/10, Dollar or Equivalent and declared as<br>most advantegeous by the purchase committee under<br>PPRA rules 2004.    |
| 72      | Stapler pin heavy<br>duty 23/13, Dollar or<br>Equivalent  | Packets (10<br>pieces per<br>packet) | 5      | 200.00                   | 1,000.00   | 1,202.76             | 6,013.80   | -                    | -         | -                        | -          | 174.33                   | 871.65     | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Stapler pin<br>heavy duty 23/13, Dollar or Equivalent and declared as<br>most advantegeous by the purchase committee under<br>PPRA rules 2004.    |
| 73      | Stapler pin heavy<br>duty 23/15, Dollar or<br>Equivalent  | Packets (10<br>pieces per<br>packet) | 5      | 255.00                   | 1,275.00   | 1,325.61             | 6,628.05   | -                    | -         | -                        | -          | 193.00                   | 965.00     | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Stapler pin<br>heavy duty 23/15, Dollar or Equivalent and declared as<br>most advantegeous by the purchase committee under<br>PPRA rules 2004.    |
| 74      | Stapler pin heavy<br>duty 23/17, Dollar or<br>Equivalent  | Packets (10<br>pieces per<br>packet) | 5      | 290.00                   | 1,450.00   | 1,535.04             | 7,675.20   | -                    | -         | -                        | -          | 228.15                   | 1,140.75   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Stapler pin<br>heavy duty 23/17, Dollar or Equivalent and declared as<br>most advantegeous by the purchase committee under<br>PPRA rules 2004.    |
| 75      | Stapler Pin Remover-<br>Small Kw or<br>Equivalent         | Packets (10<br>pieces per<br>packet) | 200    | 876.00                   | 175,200.00 | 671.58               | 134,316.00 | -                    | -         | -                        | -          | 86.58                    | 17,316.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Stapler Pin<br>Remover- Small Kw or Equivalent and declared as most<br>advantegeous by the purchase committee under PPRA<br>rules 2004.           |
| 76      | Vehicles Log book for<br>motor 200 Pages,<br>Good Quality | NOs                                  | 300    | -                        | -          | 297.18               | 89,154.00  | -                    | -         | -                        | -          | 443.43                   | 133,029.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Vehicles Log<br>book for motor 200 Pages, Good Quality and declared as<br>most advantegeous by the purchase committee under<br>PPRA rules 2004. |
| 77      | CDs writeable   | NOs                                  | 10,000 | -                        | -          | 53.02                | 530,200.00 | -                    | -         | -                        | -          | -                        | -          | Technical Score of all the bidders is same i.e. 80. M/s GHA21 Stationers has quotted lowest price for CDs writeable and declared as most advantegeous by the purchase committee under PPRA rules 2004.   |
| 78      | Towel   | Nos                                  | 10     | -                        | -          | 847.08               | 8,470.80   | -                    | -         | -                        | -          | 438.75                   | 4,387.50   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Towel and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.  |
| 79      | Store stock register                                      | Pieces                               | 35     | -                        | -          | 349.83               | 12,244.05  | -                    | -         | -                        | -          | 698.00                   | 24,430.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Store stock register and declared as most advantegeous by the purchase committee under PPRA rules 2004.  |

|         |                           |        |       | Atiqu                    | e traders | GHAZI                | Stationers | RIZ T                | echnology | Jamal                | & Brothers | Sohai                | l Traders  |  |
|---------|---------------------------|--------|-------|--------------------------|-----------|----------------------|------------|----------------------|-----------|----------------------|------------|----------------------|------------|--|
| Sr. No. | Name of Items             | Units  | Qty   | Unit price including GST | TOTAL     | Unit price including | TOTAL      | Unit price including | TOTAL     | Unit price including | TOTAL      | Unit price including | TOTAL      | Remarks / Result / Decision  |
| 80      | Binding tape "1.5"        | Pieces | 100   | - GSI                    | -         | <b>GST</b><br>157.03 | 15,703.00  | GST<br>-             | -         | GST<br>-             | -          | <b>GST</b><br>107.64 | 10,764.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Binding tape "1.5" and declared as most advantegeous by the purchase committee under PPRA rules 2004.        |
| 81      | Binding tape "3"          | Pieces | 100   | 156.00                   | 15,600.00 | 309.09               | 30,909.00  | -                    | -         | -                    | -          | 168.48               | 16,848.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Binding tape<br>"3" and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.   |
| 82      | Packing tape "1.5"        | Pieces | 500   | -                        | -         | 95.61                | 47,805.00  | -                    | -         | -                    | -          | 84.24                | 42,120.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Packing tape<br>"1.5" and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004. |
| 83      | Packing tape "3"          | Pieces | 500   | 165.00                   | 82,500.00 | 173.65               | 86,825.00  | -                    | -         |                      | -          | 113.49               | 56,745.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Packing tape<br>"3" and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.   |
| 84      | Insect killer             | Pieces | 24    | -                        | -         | -                    | -          | -                    | -         | -                    | -          | 397.80               | 9,547.20   | Technical Score of all the bidders is same i.e. 80. M/s Sohali Traders has quotted lowest price for Insect killer and declared as most advantegeous by the purchase committee under PPRA rules 2004.               |
| 85      | Electric Kettle           | Pieces | 10    | -                        | -         | 4,477.59             | 44,775.90  | -                    | -         | -                    | -          | 3,732.00             | 37,320.00  | Technical Score of all the bidders is same i.e. 80. M/s Sohail Traders has quotted lowest price for Electric Kettle and declared as most advantegeous by the purchase committee under PPRA rules 2004.             |
| 86      | Extension lead            | Pieces | 200   | -                        | -         | 1,165.32             | 233,064.00 | -                    | -         | -                    | -          | 1,696.50             | 339,300.00 | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Extension lead and declared as most advantegeous by the purchase committee under PPRA rules 2004.            |
| 87      | File Board                | Pieces | 2,000 | •                        | -         | 29.81                | 59,620.00  | -                    | -         | -                    | -          | 31.59                | 63,180.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for File Board and declared as most advantegeous by the purchase committee under PPRA rules 2004.                |
| 88      | Hand cuff                 | Pieces | 200   | -                        | -         | -                    | -          | -                    | -         | -                    | -          | -                    | -          | No Quotation Received  |
| 89      | Hard drive SSD            | Pieces | 30    | -                        | -         | -                    | -          | -                    | -         | -                    | -          | -                    | -          | No Quotation Received  |
| 90      | RJ 45 Connector           | Pieces | 200   | -                        | -         | 9.17                 | 1,834.00   | -                    | -         | -                    | -          | -                    | -          | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for RJ 45 Connector and declared as most advantegeous by the purchase committee under PPRA rules 2004.           |
| 91      | RJ 45 cat6 Cable          | Roll   | 5     | -                        | -         | -                    | -          | -                    | -         | -                    | -          | -                    | -          | No Quotation Received  |
| 92      | Wireless Wi-Fi<br>adapter | Pieces | 300   | -                        | -         | -                    | -          | -                    | -         | -                    | -          | -                    | -          | No Quotation Received  |
| 93      | Wall clock                | Pieces | 30    | -                        | -         | 1,157.13             | 34,713.90  | -                    | -         | -                    | -          | 456.30               | 13,689.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Wall clock and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.         |
| 94      | Gillant                   | Pieces | 50    | -                        | -         | 326.71               | 16,335.50  | -                    | -         | -                    | -          | 160.29               | 8,014.50   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Gillant and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.            |
| 95      | Water glass               | Dozen  | 15    | -                        | -         | 823.68               | 12,355.20  | -                    | -         | -                    | -          | 1,011.00             | 15,165.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Water glass and declared as most advantegeous by the purchase committee under PPRA rules 2004.               |

|         |                            |        |     | Atiqu                | e traders  | GHAZI                  | Stationers | RIZ T                | echnology    | Jamal                | & Brothers   | Sohai                  | l Traders  |  |
|---------|----------------------------|--------|-----|----------------------|------------|------------------------|------------|----------------------|--------------|----------------------|--------------|------------------------|------------|--|
| Sr. No. | Name of Items              | Units  | Qty | Unit price including | TOTAL      | Unit price including   | TOTAL      | Unit price including | TOTAL        | Unit price including | TOTAL        | Unit price including   | TOTAL      | Remarks / Result / Decision  |
| 96      | Notice Board 4 *2          | Pieces | 15  | GST<br>-             | -          | <b>GST</b><br>1,269.45 | 19,041.75  | GST<br>-             | -            | GST<br>-             | -            | <b>GST</b><br>1,462.00 | 21,930.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Notice<br>Board 4*2 and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.         |
| 97      | Paper tray complete set    | NOs    | 50  | -                    | -          | 2,040.48               | 102,024.00 | -                    | -            | -                    | -            | 1,638.00               | 81,900.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Paper tray<br>complete set and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.    |
| 98      | officer Table set          | NOs    | 25  | -                    | -          | 2,134.08               | 53,352.00  | -                    | -            | -                    | -            | 2,574.00               | 64,350.00  | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for officer Table<br>set and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.        |
| 99      | Paper pin (packet)         | Pieces | 100 | 58.00                | 5,800.00   | 46.80                  | 4,680.00   | -                    | -            | -                    | -            | 25.74                  | 2,574.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohall Traders has quotted lowest price for Paper pin<br>(packet) and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.         |
| 100     | pin cushion                | Pieces | 50  | -                    | -          | 93.60                  | 4,680.00   | -                    | -            | -                    | -            | -                      | -          | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for pin cushion<br>and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.              |
| 101     | Dinner plate               | Pieces | 100 | -                    | -          | 234.00                 | 23,400.00  | -                    | -            | -                    | -            | 438.75                 | 43,875.00  | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Dinner plate and declared as most advantegeous by the purchase committee under PPRA rules 2004.                      |
| 102     | Power cable                | pieces | 50  | -                    | -          | 83.07                  | 4,153.50   | -                    | -            | -                    | -            | 140.00                 | 7,000.00   | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Power cable and declared as most advantegeous by the purchase committee under PPRA rules 2004.                       |
| 103     | Sharpener                  | pieces | 100 | 10.50                | 1,050.00   | 10.35                  | 1,035.00   | -                    | -            | -                    | -            | 10.53                  | 1,053.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Sharpener<br>and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.                |
| 104     | Stamp pad ink Blue         | pieces | 100 | 52.00                | 5,200.00   | 32.39                  | 3,239.00   | -                    | -            | -                    | -            | 40.95                  | 4,095.00   | Technical Score of all the bidders is same i.e. 80. M/s<br>GHAZI Stationers has quotted lowest price for Stamp pad<br>ink Blue and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004.       |
| 105     | Stamp pad ink black        | pieces | 50  | 52.00                | 2,600.00   | 32.39                  | 1,619.50   | -                    | -            | -                    | -            | 40.95                  | 2,047.50   | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Stamp pad ink black and declared as most advantegeous by the purchase committee under PPRA rules 2004.               |
| 106     | Stapler machine heavy duty | pieces | 30  | 3,575.00             | 107,250.00 | 3,666.78               | 110,003.40 | -                    | -            | -                    | -            | 3,334.50               | 100,035.00 | Technical Score of all the bidders is same i.e. 80. M/s<br>Sohail Traders has quotted lowest price for Stapler<br>machine heavy duty and declared as most advantegeous<br>by the purchase committee under PPRA rules 2004. |
| 107     | Toner 5A                   | pieces | 20  | -                    | -          | -                      | -          | 19,520.28            | 390,405.60   | 18,603.00            | 372,060.00   | -                      | -          | Technical Score of all the bidders is same i.e. 80. M/s<br>Jamal & Brothers has quotted lowest price for Toner 5A<br>and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.                 |
| 108     | Toner 17 A                 | pieces | 20  | -                    | -          | -                      | -          | 10,881.00            | 217,620.00   | 14,976.00            | 299,520.00   | -                      | -          | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technology has quotted lowest price for Toner 17 A and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.                 |
| 109     | Toner 59 A                 | pieces | 20  | -                    | -          | -                      | -          | 21,336.12            | 426,722.40   | 23,400.00            | 468,000.00   | -                      | -          | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technology has quotted lowest price for Toner 59 A and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.                 |
| 110     | Toner 76 A                 | pieces | 100 | 1                    | -          | -                      | -          | 20,995.65            | 2,099,565.00 | 22,932.00            | 2,293,200.00 | -                      | -          | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technicology has quotted lowest price for Toner 76 A and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.               |
| 111     | Toner 85 A                 | pieces | 20  | -                    | -          | -                      | -          | 11,575.98            | 231,519.60   | 13,221.00            | 264,420.00   | -                      | -          | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technology has quotted lowest price for Toner 85 A and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.                 |

|         |                             |        |        | Atiqu                    | e traders  | GHAZI                    | Stationers   | RIZ T                    | echnology    | Jamal                    | & Brothers | Sohail Traders           |              |  |
|---------|-----------------------------|--------|--------|--------------------------|------------|--------------------------|--------------|--------------------------|--------------|--------------------------|------------|--------------------------|--------------|--|
| Sr. No. | Name of Items               | Units  | Qty    | Unit price including GST | TOTAL      | Unit price including GST | TOTAL        | Unit price including GST | TOTAL        | Unit price including GST | TOTAL      | Unit price including GST | TOTAL        | Remarks / Result / Decision  |
| 112     | Toner 53A                   | pieces | 20     | -                        | -          | -                        | -            | 22,244.04                | 444,880.80   | 20,592.00                | 411,840.00 | -                        | -            | Technical Score of all the bidders is same i.e. 80. M/s Jamal & Brothers has quotted lowest price for Toner 53A and declared as most advantegeous by the purchase committee under PPRA rules 2004.                       |
| 113     | Toner 49 A                  | pieces | 20     | -                        | -          | -                        | -            | 22,499.39                | 449,987.80   | 21,060.00                | 421,200.00 | -                        | -            | Technical Score of all the bidders is same i.e. 80. M/s<br>Jamal & Brothers has quotted lowest price for Toner 49 A<br>and declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.             |
| 114     | Toner 19 A                  | pieces | 20     | -                        | -          | -                        | -            | 11,437.92                | 228,758.40   | 16,614.00                | 332,280.00 | -                        | -            | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technology has quotted lowest price for Toner 19 A and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.               |
| 115     | Toner 12 A                  | pieces | 20     | -                        | -          | -                        | -            | 13,893.75                | 277,875.00   | 14,859.00                | 297,180.00 | -                        | -            | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technology has quotted lowest price for Toner 12 A and<br>declared as most advantegeous by the purchase<br>committee under PPRA rules 2004.               |
| 116     | Toner 203 A<br>complete set | pieces | 15     | -                        | -          | -                        | -            | 58,500.00                | 877,500.00   | 62,595.00                | 938,925.00 | -                        | -            | Technical Score of all the bidders is same i.e. 80. M/s RIZ<br>Technology has quotted lowest price for Toner 203 A<br>complete set and declared as most advantegeous by the<br>purchase committee under PPRA rules 2004. |
| 117     | File Covers printed         | pieces | 16,000 | -                        | -          | 43.57                    | 697,120.00   | -                        | -            | -                        | -          | 31.59                    | 505,440.00   | Technical Score of all the bidders is same i.e. 80. M/s Sohail Traders has quotted lowest price for File Covers printed and declared as most advantegeous by the purchase committee under PPRA rules 2004.               |
| 118     | Leave register              | pieces | 36     | -                        | -          | 201.24                   | 7,244.64     | -                        | -            | -                        | -          | 204.75                   | 7,371.00     | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Leave register and declared as most advantegeous by the purchase committee under PPRA rules 2004.                  |
| 119     | Clip board                  | pieces | 24     | -                        | -          | 579.15                   | 13,899.60    | -                        | -            | -                        | -          | 1                        | -            | Technical Score of all the bidders is same i.e. 80. M/s GHAZI Stationers has quotted lowest price for Clip board and declared as most advantegeous by the purchase committee under PPRA rules 2004.                      |
|         | Total                       |        |        |                          | 11,816,525 |                          | 5,380,017.49 |                          | 7,455,295.80 |                          | 16,453,045 |                          | 3,754,299.40 |  |